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Q1. A) The phenotype is the result of combined influence of the 1nd1v1dual & genetype and the
effects of environment. Classify the various types of selections on the bams o’r‘ these traits and
ra COV 5]

provide adequate examples and illustrations.

Genotype Number
GgLITt 621
Gg L1t 3
GglI Tt 64
Ggllit 109
gg LITt 103
gg Litt 67
gg Il Tt 07
gg lltt 626 .
What is the- order of ‘these three linked genes? Calculate the recombination frequency between

each pau of gej,'les and value of interference. Coll [5]

recombmatmn the maximum value?

B) Why are double-cross over events expected less frequently than single-crossover events?
C) How do we know that sister chromatids undergo recombination during mitosis?

CO I [2+2+1]

PTo



Q4: A) Cystic fibrosis is the most common autosomal recessive disorder in certain Caucasian
populations. In some populations, approximately 1 in 2000 children have Cystic fibrosis.
Determine the frequency of carriers in this population. PTO
B) What is the relationship between mutations and Polymorphism ?
C) Under what circumstances might a lethal dominant allele persist in a population?

CO IV[2+2+1]
Q5: A) If an individual with the minimum height specified by four gene palrs (homozygous

recessive) marries an individual of intermediate (all heterozygous gene palrs), WIU angf,of their

children be taller than the tall parent? Why or why not?

is categorised under polygenic inheritance?
C) If two deaf parents have a hearing child, what conclusions,

control of deaf? COIII [2+2+1]




